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2. 'X1, X2, X3
}ñÝ�^�ó, vXibN (i, i2)5µ, i = 1, 2, 3��¿àX1, X2,

X3ÝÐó, 5½C�bAìÝ5µ�
(i)χ2

3, (ii)T2, (iii)F1,2�

3. 'XbFn,m5µ��J(n/m)X/(1 + (n/m)X)bBe(n/2, m/2)5µ�

4. 'X1, · · · , Xn
×àãE(λ)5µX®ß��^øÍ��JnX(1)�Xb8!Ý5

µ�

5. 'X1, · · · , Xn
×àãΓ(α, β)5µX®ß��^øÍ��Xn, S2
n5½�øÍ¿

íCøÍ�²ó��J

(i) E(Xk
1 ) = (α + k − 1) · · · (α + 1)αβk, k ≥ 1;

(ii) S2
n =

n∑
i=1

X2
i /(n− 1)− (n/(n− 1))X

2

n, n ≥ 2;

(iii) E(X
k

n) = (nα + k − 1) · · · (nα + 1)nαβk/nk, k ≥ 1;

(iv) E(S2
n) = αβ2, n ≥ 0�

6. 'X, Y
Þ}ñÝ�^�ó, v/bN (0, 1)5µ�ê�Z = min{X, Y }��
JZ2bχ2

15µ, ÇZ2 d
= X2

�


